RSEFE FLUPERITETFTE[2A~3A8B%%A]
Ala|= TE Slirlz2]3]als]e|2] Tresnl
(3% B &) AR -
5ERIE 13:25~14:15 A [02|02|02]02)a2] _ | 4:55
2| 1 | K| wyosi4:25~14:40 55 RKIKR|AR|AKR[KR ¥ O = R A
6EERAE | 4:55~15:45 (3ELND) 1 13lals|le|™ B X
ESE  14:55~15:45 16:00
SNTUr—MFEFBIEY) CYARVARVARVA LY 2 SR T AR
2| 2| & |6eE%E 14:45~15:00 Alelzlz|2|2|/ |5 N0
)& D= 15:00~15:15 1121356 = :
213 x
21 41TH
CCHEEETGVE (BUDZ) b|b|b|b|b -
2|55 AlB|R|B[A|R| |[x| ®ETH
123145 )
CEEBEIISE TR
S5BFRIR 13:25~14:15 A blblbibfb = | 4:55
2|6 |K| mynsi4:25~14:40 gz | K| KKK K e | O gag g
6BRAE | 4:55~15:45 (3E£NH) “l1]2)als5]|6]|™ A X
ERSE  14:55~15:45 16:00
EFEEEEBADO b[b|b|[b]|b S
27|k BK|[K|K[K|K]|/[X ETTZ'SOX
145|163 '
FIEEZEEEZER (15:25~15:55) 6l blblblblb —RE T AR
EBREENMZ L (~16R) B 132 :
2| 8|4 Uk | & [ | | & | R | 2| 2325
y ] 2| BETR
1231456
16:10
BoN5%E5% N BT
2| 9| & | puskweb LML (~ 1 4BEF) |A|BADSEESR| /| X| "5, 5
2110
2 |11 H|EFZEzZ2NA
2 [12] H |24 A
R#EET (8) allal|alfalal = N
2 13| Kk |BE2EREEEEZES (B) %E;_ AlB|AR|A|[A]|/|X E'i'%.—r*;‘
.35 5 B4R 4% B 1 B A A R 1 4:30
BESAImIE (21 5 allalfallal]al]al B —ATR
/—% AN 2 ~ L=
2 14|k #ITE < (15:25~15:55) I% KKk |k lj’ |/5—1125
%EL = i)fl.'fTu
11231456 (A
= ®
BEREAR TR (1 -2 4£) O~® | - 2F T
2 |18l & (3 BE]A A e = % [5:15
SEFRIR 13:45~14:35 : B =
J&Y D | 4:45~15:00 *r BRTR
6BERIE 15:15~16:05 (3F4£NH) 16:20
BIBATAL (| 25 £) D~0 ol T BTE
#HiTE S (15:15~16:00) . =l 15:15
2 | 161 | /231 iz BHARA (~208 E4) A|REIEER | =\ &) /& BT
£ RYEDL5:15~15:45 415 1l 600
2117 =
2|18 H|xEnH
b|b|b|b|b 2
2119/ A ala|r|r|A|a|/| | BETH
l[2]|13]|14]5 ’




EXEFI¥NG) b [BB[b [, [b T
K |FE3EREEEERS (B) INPIEIP PN PRI e
12134 = 6 16:15
BETA Y b|b[b|b|b|b R
BlK|[K[K|K|K]|KI|X Ei%_-r&
AEEREEARM (~228) 11213456 15:45
F X MREIB 4G | 4 ¥ IMSE BERLIF
|4 EESBHY A \ .| T#14:55
284 K%Y 5 2F 4 R FEE
3FE4E WYSHEEG® > =R TKR
st | RE L
2 poll| SR A
2 T
2 H
ZXARE I BF£O) a2|a2|a2|a2|a2 2 48 T A
AUBRNFEERAE A1) AlB|R|R|R|A]|/|X Eﬁ'g.T;
123145 ’
ZEABB L (3EEOG)
[3¢§?§%1A 02(a2(a2|a2|a2| _ BIR T
SESREIE | 3:45~ | 4:35 e AT
BYNDLE | 4:45~15:00 S ESENES RN ES = S 16:15
6BFRB 15:15~16:05(3FEELNDH) 1123|145
ERE 15:15~16:05
$##EL46(Fr) 15:25~15:55 %3 2la2la2la2lazla2 3
E52N B 1% |5 Lo | o o | o | 72| BT
X = Sa (~ E = :
XABEMEATT (~68) v 1 12131alsle N 16:10
DT —FR E5 4
= 47 2k a2(a2|a2(a2|a2| 2 = 48 =
HEHHK Bl | A | A | A *fﬁ % E’x‘i,‘fg;l:éx
1|2]|3|a]|5|% '
ak
ARy R 2|a2|a2|a2|a2| 4 =
EEANRRE (2RK) %%2}%%0 =l BT
Ea
H
AR A Y] (B) b[b|b|b|b R
Aﬁﬁﬁﬁﬁ/xﬁ"“fgf
123145 ’
Qﬁ%ﬂ%ﬁ(—:ﬁ%ﬁlea) olblblslb E| —RTKR
22,0 (14:50~15:35 .
X 8| k| k| k| k| k| /7] g
12345 ws T
/N 15:50
NI ERE—REKR28 B blblolblo B —ARTR
339:}&[)/\®(|4:50~|5:35) Bk || x|%x|x|/ Z | 4:50
N A (BR) 121304 le )| RETK
/N 15:50
N AH (BR) 2 48 = 4
BFLRRRIES - EHERE(11:35 |A 57 B 2R /| X E"‘I’%f,'lr?
~) °
BT R ERE R AR
> A X
== |5 [/ ]/




